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6. What should be added to (—25) to get 157 (i ')‘Q
. 1. Dividé the sum of Es— and T by their difference. (Qrf)ﬁf@

State which of the followmg are True and which are falsé @X 4‘ =2 m’ﬁy
3. 8
(a) 11 ‘and —— ~ -are not equal
- (b) Every integer is a rational number
: 48
- o) g &nd g are equivalent rational numbers

(d) There is only one rational number between 1 and 2,
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?, In 8 theatre there were 1200 persons. f;- of these were 02 mav: K)

§ @
women-and 3 of these women were school girls. Find
the number of school girls in the theatre.
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/O Write three rational numbers between'3 and % @ '0&719
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1) 16 2528 decimal number.
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(ii) ?asadecimalnumbet.
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(iii) 10.3125 as a rational numi)er in the form

/&. Tick the correct altem?.tive ([}( o? ___-OQ

3 ’
@ T when expressed in the decimal form is

(a) o028 (c) 0.28

(d 0.29

1
(i) The decimal form of 3 is

(a) Terminating

(b) Terminating and repeating

(c) Non-terminating and repeating

(3. Tind the value of x if €X£:o@

(d) Non-terminating non-repeating

156 x
@ ) and 1z re equivalent rational numbers, and
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(i) 5 and 35 are equivalent rational numbers.



